
1. ab − b − a + 1을 바르게 인수분해한 것은?

① (a − b)(b + 1) ② (a + b)(b − 1) ③ (a − 1)(b − 1)

④ (a + 1)(b − 1) ⑤ (a − 1)(b + 1)



2. 다음 안에 알맞은 수가 다른 하나는?

① 9x2 + 6x + 1 = ( x + 1)2

② 2x2 + 7x + = (2x + 1)(x + 3)

③ 16x2 − 9y2 = (4x + y)(4x − 3y)

④ 4x2 − 12x + 9 = (2x − )2

⑤ x2 − x + 3 = (x − 1)(x − 3)



3. 다음 등식을 만족하는 상수 m, n 의 값은?

x2 + 6x + m = (x + n)2

① m = 9, n = 3 ② m = 9, n = −3 ③ m = 9, n = 6

④ m = 3, n = 3 ⑤ m = 3, n = −3



4. x2 − 9y2 − 2x + 18y − 8을 인수분해하면?

① (x − 3y + 2)(x + 3y + 4) ② (x − 3y + 2)(x + 3y − 4)

③ (x + 3y + 2)(x + 3y − 4) ④ (x − 5y + 2)(x + 3y − 4)

⑤ (x − 3y + 4)(x + 3y − 2)



5. a + b =
√
6 , ab = 1 이고, (a − b)a2 + (b − a)b2 = k 라 할 때, k2 의

값을 구하면?

① 20 ② 21 ③ 22 ④ 23 ⑤ 24


